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40 100 40 P6-100
41 50 120 50 P6-120
51 70 150 60 P6-150
71 90 180 70 P6-180
91 100 200 70 P6-200
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Ps =lIsxIf xW €))
W
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If
W 480 (N/ )
Is 0.455m
If 0.303m
Ps =Is xIf xW =0.455%x0.303x480=66(N/ )< Fs(100N/ ) OK
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Pg =Is xIf x(W + K) Pg= 3)
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W  480(N/ )
240N/ )
Is 0.455m
If 0.303m
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Pg =IsxIf x(W + K) =0.455x%0.303x 720 =99(N/ )< Fg (= 150N/ ) OK
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36 m/s
Vo =36 m/s
H=10m
2)
H H=10m
Vo 36 m/s
Zb Zb=5m
Zc Zc =350 m
(o o =0.15
Er a
H
P Er=1.7 — | =0.997
ZG
N/
9(NF) q=0.6E,%,> = 773N/
3) Cq
Chpe-
H H=10m
Chpe- 2.2
H=10
Cpi Cpi =0
Cr Cr Cpe— Cpi 2.2 0 2.2
4)
(N/ (N/
W =9 Ci{(N/ ) 773 -2.2 -1701
1701 (N/ )
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1)
ax=<b(cm) 45x%<1.8
Z(cm3) 2.43
I(cm4) 2.19
fb(N/cm?2) 1029
E(N/cm?2) 686><103
Is(cm) 45.5
If(cm) 30.3
( ) W(N/ ) 1701
lcm p(N/cm) | p=W/100>=1s/100=7.74
If M=p>=I1f2/4=1777
M(N cm)
Fb(N/cm2) Fb=M/z=731
fb Fb(731) < fb(1029) OK
y(em) o xIf xIf3
=—=0.09
48 x El
Sa(cm) 0.1
y(0.09) < dSa(0.1) oK
2)
1 f(N/ ) 1000
Is (m) 0.455
If (m) 0.303
n( /) n=1/1s><1/1f=7.25
F(N/ ) F=p><n=1000>=7.25=7250
( ) W (N/ ) 1701
F (7250) > W(1701) OK




